FREATEZ L2 BMEOHER (RA~)

1.2 E ERE (4F64E5H 1A BAE)
(ShHER)
R | R E3lAk- SEE ) BEK
STaeE 6 13 107 N23.6 25
S5 6 10 96 | A 10.3 22
ST64E 6 9 80 | A 16.7 21
(F R EERIERE Z b )
R | FRE B e MR (%) HEK
4 2 7 89 A 1.1 29
S5 2 7 84 A 5.6 24
SNG4 2 7 87 3.6 27
(VPNFRR)
2ty 2Ly s |H 2z 3 BRIALEY
FRE FARRE REH BIEEEL(%) BEEK IR
STaeE 17 187 3,458 A 3.7 304 11.4
wFn5EE 17 182 3,278 AN 5.2 294 11.1
ST64E 17 179 3,160 A 3.6 296 10.7
(FERR)
J U . s | BEIANED
g | e | e | sESE |
4 13 92 1,887 1.0 217 8.7
S5 13 94 1,877 A 0.5 215 8.7
SNG4 13 92 1,816 A 3.2 217 8.4
(EEZFE)
EFRE | BHEK G IR | RErers | phikER
BTEEEE(%)
FF4E 5 210 1,682 [ A 5.1 593 30.7 36.9
S5 5 199 1,647 | A 2.1 575 31.1 39.5
N6 5 195 1,640 | A 0.4 525 32.6 38.5
(FRRI TS
R | R AR SEE ) BEK
STaeE 20 96| A 10.3 51
S5 21 96 0.0 52
ST64E 23 104 8.3 58
(BEFR)
R N -
R | #HEK AR MR (%)
4 2 14 142 6.0
S5 2 15 147 3.5
SNG4 2 15 130 A 11.6




2. /NFEREER - R H - R B

(4 Fn64E5H 1 A HAE)
(NEBRR - /8
R B
B | Ak | o | AR op| X
14 | 248 | 3% | 44 | 548 | 6% BER
A4 17 17 -l 187 24 26 24 24 24 25 - 40
S5 17 17 -l 182 21 24 26 24 24 24 - 39
A6 17 17 -l 179 23 21 24 25 24 24 - 38
(AR IR EE)
IRERE 14 24 34
Bl % = g 3 = i % = g 3 =
AFn4tE | 3,458 | 1,838 | 1,620 544 276 268 568 304 264 551 287 264
AFn54 | 3,278 | 1,737 | 1,541 490 247 243 542 280 262 562 301 261
AF64E | 3,160 | 1,657 | 1,503 462 248 214 492 247 245 541 281 260
4% 54E 64F
i % = g 3 = i % =
SfnasE 575 309 266 582 327 255 638 335 303
A5 539 279 260 568 307 261 577 323 254
SF6E 557 295 262 541 279 262 567 307 260
3. AR - R - R AR
(HP 2R - 28D
R B
- N AR ) =
| A | ow | R = = T L e
SR4E 13 13 - 92 25 23 22 - 22
SF5E 13 13 - 94 25 23 22 - 24
SFI6LE 13 13 - 92 22 22 23 - 25
(CRERAER-ER)
A REREK 14 24 3
Bl % = g 3 = i % = g 3 =
AFn4tE | 1,887 941 946 630 317 313 620 312 308 637 312 325
AF54 | 1,877 958 919 629 330 299 627 316 311 621 312 309
AF64E | 1,816 963 853 562 318 244 624 326 298 630 319 311




